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COMPREHENSION

Directons :

|

Tn this section vou have two short pazsages, Afber each passage, you will find somme ilems
ased on fhe passage. Read the passages and answer the items based on them. You are
required 16 Belect your answers bated on the content of the passags and opimon of the
author only. '

FPastage - |

Post colonial culural analysis bas been concemed with the elaboration of theorctical
styyctores that conlest the provious dominant westem ways of seemp Lhings. A sitple
analogy would be with feminism, which hag involved a comparable kind of projoct - thers
was a fime when any book you might read, any speech you might bear, any film that you
azw, was always wkd from the point of view of male. The wothan was there, bt she was
always an ohject, never a subgect. From what you would read, o the flms you would see,
the woman was always the one who was looked at. She was newetr the obserying £ye.
For cenburies it was assumed that wormen were Jess intelligent than men and that they did
pot merit the same degree of education. They were not allowed a voio in the political
system, By the seme token, any kind of knowledge developed by women was regarded
A% THon-%erious, rivial, gossip or altematively as knowledge that had been discrediied by
sejence, such as superstition or waditionad practices of childbinh or healing. All these
attitudes were part of a larger systers in which women were dominated, explaited, and
physically abused by men. Slowly, but increasingly, from the end of 15th cenpry,
femitists began to contest this situation. The more they contesied i, the morz it became
mcreasingly obvious that these attitudes extended imto the whole of the culture; socual
relations, polilics, law, medicine, the arts, popalar and academic knowledge.

Poal colonizlism is L :ﬁ.-']:l.nt does °. .. che was always am
object, never a subject’ mean 7
(a) & contcstation of the then existing @) W )
dominanl western prachces a omen wers given respect and
" wollshipped

(b} 2 contestation of westcm practices

in colomial stales

{c} a contestation of the supersiitious
practices

{d) an approval of indigenous prac-
tices
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i_’i}} Women were nol given any right
equal to men

{c) Women were treated at par wilh
men

{d) Women liked to be realed inferior
to rmem '




3. Why was ‘she never the observing (b} participation of men in socia|

oy’ 7 relabions, politics, law, medicine,
the ants, popular and academic
{a) She was beautiful, so she was knowiedge
obzerved by tren
{€) pericipation of women in socigl
{b) She liked to be obzerved by men MOVEIents
{£} Winmen were nssumed to be less (d} contestations with males in life
miclligent than men leading ¢ divorce
{d) wﬂm?ﬂ were assumed to be more 5 Which word in the passage is oppasile
ITII;'I.‘.I!IEET.II than en of *contragt’ *
4. The contestation to dominance of the (a) Contestations
mzl= resulted in
tb) Trivisl
{2} participaiion of women in social _ )
relations, palitics, law, medicine, (e} Dnscrediled
the a5, popular and academic
knowlcdge {d} Analogy
FParsage — II

How wonderful is the living world! The wide tange of the living types is amazing. The
extraardinary habitats in which we find living organisms, be 7 cold mountains, decidupns
fovests, oceans, fresh water lakes, desens or hot SPNIES, tave us specchless. The beauty
of & gailoping horse, or a migtabing bird, the valley of fowers or the attacking shark
zvokes awe and a deep sensc of wonder. The ccological conflict and cooperation amang
members of a population and among populations of = comurumity of ¢ven a molecuiar
traffic inside a ceil make us deepiy refloci on — what indeed is life 7 Thic quastion has
Two implicit questions within it, The Grst is a technical one and seckz answer to what
living ia as opposed Ly the non-iiving, and the sacond is the philosopbical one, and seeks
answer 10 whet the purpose of life js.

What iz living? When we try o define ‘living', we conventionally look for distinclive
charscteristics exhibited by living organisms. Growib, cproduction, abality 1o sewsc
envirotiment and mount a soitable teiponse come 10 our mind immediately as unique
Teahrres of living organisms. One can add 8 fow morg features like metabolism, ability to -
sellreplicate, sclf-orpanize, interuct gnd emergence to this list

3 | A - DZOL-U.LKE




(b) Meaning of life could be reflected
2% to how living organisme live
and pov-living organisms cxist

6. Why arc the living Bypes amazing !

{a) The extmordinary diversity of
habitats makes it amazing
(c) Meaning of life could he reflected

{b) The living orgamams am acting as to where the lifc begins and

g5 pet their interesis where it ends
() The buman thinking makes the {dy Meaning of life could be reflected
living types amazing on how varous living orgatiems
differ

{d) The evolution of lifc rakes il

AMATINg
4. Distinclive characteriztics exhibited by
organisms indicate that
7. Why does the author say, ‘rrological .
comflict and cooperation” 7
{a) they are living oIganisms

{a) Because living organisms are

structured this way (b} they are noo-living OIganiEms
(b) Because ecalogical techanistm - () e : -
. - y can be either living otga-
:r;l:l’rs with coullict and coopera- nisms ot non-living ;

{c) Because humans want to fight and {d) they know ihe purpase of life

live ogether

{d) Because living Organisms Some- 10. ‘:'l"hich word in the passage mmeans

times fight and sometimes Live unique’ ?
together
(%) comMon
B. Which of the following statemenis ia
true of the passage T by charscterislics
(s) Meaning of lifc could be Teflected L
as 10 what living is a3 o ich distictive
jhe notliving and what the
purposs of life (d) gencral

DZOL-U-LKE - A




SPMOTTING ERRORS

INrectiony ;

Il.

11,

13,

14,

1%,

.8

| A

Each item i this section has 4 sentence with three underlined parts jabalfed ag (a), (b}
andd &), Readmchseﬂenumﬂndnmwhetherthmiunymhmyuudaﬂhmd part
aml indicate your responce on the Answer Shect againsi the corresponding letter, j.a.,
{a) or (b) or (&), If you Gnd oo error, your response should be indicated as (d).

He has been  onc the mast revered member of the committes of sngiriry,  MNo exor.

(a) {b) (<} {d)
Rahul azked me  whether I was interested mjniningihignup for the teip.  No ermor
(a} {b) (e} {d)
“Wheve there isa will  then there is a way"  isan old epithet.  Na exror,
{a) (b} {c) {d)
Indian feminism prew ot of the woren's movements  of the Jate nineteenth Ccentury,
{a) {b)
reached full matrity in the early bwentieth cantury,  No ervar.
- (c) (d)
The greatest merit of democracy  is thal everyonc feels frae
(@) (b}
and can pursues his! ber interest, _ No ermor.
{<} {d)
All stake holders of education  have the right to ask for accountability
{2) (b}
in every aspects of its implementation.  No =mror.
(=) (d}
L.earniug.nuny languages  promotes linguistic, culiyral and social barmenies
(a} (b} :
among petpic speaking different languages, No ervor.
(=) R




iR, Oncshould notact  according to one’s  whims amd Fancies on public places.
{a) - i)
Mo error.

{d

1% Beonomists believe that  India had taken a new turm in 1990

{a) {b)
with the liberalization to her economy. Mo error,
{«) (e}

20. Trrigalion works have a spccial imporiance ity an agricultural countrics like India,
(2} (L))
where rainfali is uncgually distributed ﬂ:mughmrt the teazons, No &rror
{c} G

ORDERING OF WORDS IN A SENTENCE
DrrecHons !

Each of the lollowing items o this scction consists of a senlence, parts of which bave
been jumbled. These parts have been labelled 2s F, 0 R and 5. Given below each
sentence are four sequences namely (2}, (b), (c) and (d). You are requircd Lo re-amangs
the jumbled parts of the sentence and mark your respanse accordingly.

?1. history oflifz  evolubomary Biology iz foems onearth  the study of
P o R 5

The conmiect sequence should be
@ SPQR
i QSFR
fcy RPQS
) FSQR

DZOL-U-LKE — A &




22,

life is considered  the origin of  the kistory of universe 4 unique event in
F Q R 8

The comeet sequence should be

{a) QPSR-

b} PSQR

{c} SOPR

d) RSP Q

productive resources s how we manage  and competitiveness
P Q R

critical 10 strabegic growth
5

The corect sequence should be
{fa) PORS
b} REFQG
) SREOQ
d QPSR

in service finms  operations strategy  from the corporate strategy
P Q E

is generally inceparable
5

The correct sequemce showld be
(a) SRQP_
b} QPSR
c) RSPQ
(d) PEOQER

T A — DZOL-U-LKE




25. arc hravelling,  a recent sarvey has revenled  that they are worried about their safety
F Q R
oven as more and more [Indians
s

The correct sequence should be
(] SFOR
W}QSRPI
&) PREQ
{di RES

26. the imagmation of children  sfories can cxoroise  more that the stories
F 2 R
hecause (hey tell '
s

The cormeet sequendcs should be
(&) DRSSP
{ty SPQR
{fr) QFSER
() REQF

21 ssamgord of  and suffering of humans  the achieverments, expenments
F Q R
higtoty is considersd
=

The correct sequence should be
{a) SPRQ
) RQEF
{©@ PQRS
fd QESP

DZOL-U-LKE - A R




28. can beinvented it appears _ has boeninvented  that all that
P Q R 5

The concet sequence shouid be
A QEPER
) QRSP
c) ESOQP
{4} SPQR
2%, duning the last century  Indian social, political and cultural life  gsa teslitony of
P Q E

Indian cinema stands
5

The correct sequence should be
{a) SPQK
() QREP
(<} POQRES
(d) SRQP

30. afzali ssarches for knowledge  shouid be the I::ginning an explomation inte tuth
P Q) R
and expeniments of life
5

The cotrect sequence should be
{a) RQPS
(b} SFPOR
(c) REPQ

) QREP

% A - DEOL-U-LKE




IDIOMS AND PHRASES

Directions ;

Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the responge (), (b} () or {d) which is the mosl approprizte expression and mark
your responsc in the Answer Sheet aecordingly.

k)

Al

3%

Get the Jilters

{a} Fecling anxious
b} Fecling heppy
{c) Stammering

(d) Feeling exposed

Frenich leave

{a) Absent from work without asking
for permnissyom in French

(b} Asking for permission belore
leaving work

fc) Woark Far permission o get leave

(dy Absent from work withoul asinng
for permission

Tike a stand

(a) To publicly express an opnion
about someathing

(b) To make a stand for one to sit
{c} To be firm on your work
(d} T b part of the work

. O and run

(a} To avoid a difficult siation by
leaving suddenly

(b} To avoid an event suddenly
{) To meet some danger suddenly

(d) To ask for sudden meeting with
SOTHIE

DZOL-U-LKE - A

s,

36.

37,

3E.

Cut the cord
fa} To stop needing your parents for
MonEy

To stop needing someons elss @
look afier you and slatl actng
independently

To be safe oft Your ownm

(b}

()
{d)

Cuphoard lowe

{2} Loving $omeone to et somelhing
from the person

Loving the cupboards
Lnnocent love
Lovmg to be free of all conditions

To be a marricd persoth

{b)
(el
id)

Arcund the comer

[a] A thing which iz at the end of the
comet

(bt An event or thing which 1 going
to beppen soen

{c) Anevent that comers someonc for
his wrong

id)  An evem that happens in the comer
of powerful placc

With Heavy Hean

fa} With heavy weight

(b} With joy and humowr

(e} With sznse of share

idy With pain and regret




3. Cost a boenih

(a) To be very arogant

{t) To be with rich peopic

(c}) To be very expensive

(d) To be atingy

40. Rcll your zlesves up
{a) To prepare for wrestling
fb) Te prepare for hard work
{c) To make gomeone work for you

(dy To woark with others

ORDERING OF SENTENCES

Drecyipny :

In this section cach irem consists of six sentences of a paszage. The firgt and sixih
Benitences are piven in the beginning as 5! and $6. The middle four sentences in each
have been jumbled up and labelled as F. -, R and &. You are required to find the proper
sequence of the four sertences and mark your response accordingly on the Answer Sheet,

41, 51

-1

The country's cconomy is growing
and would continue to grow at &
rapid pace m the coming years.

The market shate of slecirical
vehicley increases with increasing
availability of infrastracture,

¢ [t alzo provides us an oppovbunity

to grow as manutactwer of elec-
tne vehicles.

: According 1o NTT] Aavog (26199,

if Indiz reachas an electric vehi-
ties sales penstrilion, cmission
and ol savings can be achicved,

R : Given the commitments that India
has mads o4 the climate Homt
aF a4 pation ad on envircnmenizl
aspects, it is Tikely that larger and
larger share of awomobiie sector
would be in the form of clectnic
vehicles

8 : This presents & greal opporhunity
for the astomobiie industry as the
demand for automobiles would
only increase.

The correct sequenee should be
{#) SROP
b)) RQSF
) QDFSE
@ QERF

A - DZIOL-U-LKE




42. 51: Central government receipts can
broadly be divided inle non-debt
and debt receipis.

%5 - This i3 also cvident from the com-
position of mem-dabt receipts.

P : Debt receplz mostly consigt of
market bonowing  and  ofther
liahilities which the government is
abliged to repay wn the future,

0 : The non-debt receipts compeice
of tax pevenus, nomn-tax v,
recovery of loans and disinvest-
ment e eipls.

R : The cuicomes ay reflacted in the
Provisional Actual figures is lower
than the budget ssiimare owing to
reduction in the net lax revenue,

S : The Budgel 201819 targeied
significamily high growth in non-
debri peceipis of the Central
Grwernment, which was drven by

robust growth.

The comect sequence should be
{a SRPQ

b} RSQP

{¢c) POQRS

{h QFRS

DEOL-U-LKE — A

| ¥4

43.

51

Pﬂmnm[uﬂisihnstudyufﬂle
remains of dewd organisms owver
eiormons spans of fime,

- Faunal analysis gives informetion

about the apimal peoplc hunled
and domesticated, the age af
animal at death, and the diseases
that afflicted them

- Bones provide a great infoonalion.

* The distnibuton of faunal remains

(animal bones) at @ sie Ccan
indicare which areas were uscd fin
butchering, cooking, eatmg, bons
tool makmg and refuse dumpimg.

: Withmn this discipling, maolecular

biokegy and DNA studies have
been used to understmd bominid
gvolwtion,

. Hominid cvolution answers the

quesgons aboul what  anciemt
people looked like, and to plot
pattcrns of nmupraticn.

The comecl sequence should be

2y QFRS

bty SPOR

{c) RESFQ

(d) FQRS




4, i

Siu:

|

Hottmomes have several Amctons
in the baody,

The two hormones tagcther regu-
late the plucose lavel in the blood

: They belp to maintain the balance

uf brolagical activities in the body.

. Insulin &s reisased in response to

the rapid rizz in blood plucass
level.

100 the other band hortaone

ghicagon tends 1o increase the
glucose bevel in the blood.

: The rode of insulin in kecping the

hiood glucose level within the
narrgw limit is an example of this
Euncton,

The correct sequence shouwid be

{a).
{h)
(c)

{d}

458, 51;

PSRQ
R5P0Q

SEDP

QRSP

All l'wing thitgs affect the liwvitg

and nondiving things  arcund
them,

: This interdependability needs to

bz understond when we, humans
consume much mare ther oquired
ard ahuse namire,

: Thae can alzo affoct the population

of Tox, if foxcs depend on rubbits
for Tood

! For cxample, earbworms make

burrows and worm casis.

: Thiz act of =arthworms affects He

soil, and therefore the plants
growing in it.

13

5 : Rabbit’s fleay camy (e virus
which caugez myaomatosis, so
they can alfect the size of the
rabbit population.

The worrect sequence should be
fa) RS QP
{b) PSR Q
{c) QRSP
(@ SQRF
46, 51: The ecogysten of water is com-

plex and many environmenta]
factors are inicatcly iinked

836 The trees slowly transfer minwatsr
mitd the sub-seil and ihis 15 enitical
for susluining water for months
aftar the rains,

P ; Thick forests make for excellsnt
' catchments.

2 . The problems we zee are bocause
we have undermined thege links
over decades,

K : Firsi, rain and smowfali are the
oniy sources of water — about
00%%.

5 : In the fowr months of monsoon,
there are abour 3)-35 dowmpours
and the challenge 15 to hold this
witer 1 sysiems that can lasl uy
OVer 365 days,

The cammect sequence: should be
(@) QRSP
by PSR Q
ey SEQFP
) EQSP

A - DZOL-U-LKE




47. 51

Politics iz exciting because people
dizagree.

%6 ; Tt 15 not solitary people who make
politics and a good society; it is
the people together which make

"o politics and sucisty,

F : For Aristetle polities (s an attermnpt
to create a pood society because
politics 15, above all, a zocial
activty.

€ : They alzoe disagree aboul how
such mabers should be resolved,
how collective decision should be
made and who should have a say.

E : They disagiee about bow they
should live.

5 : Who should get what? How
gshould power and other resoures

be distributed 7 Should socicty e

based on cooperation or conflict 7
Ard 30 oo

The crmect sequence Should b

(2} RSQF

 PQS R

) QSRP

idy RSP Q

DZOL-U-LKE — A
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48, 51:

Regular excrcise makes many of
the organ sysiems become rdre
cificient

S6: Differsnt activities require differ-
ennt Jevels of fimess.

P : It can improve vyour strength;
make your body mone fexible and
less likely to suffer Gom sprain.

O ; It can also improve your endur-
aI.L::-

E : [t also uses up energy and helps 1o
prevent  large  amounts -of Gk
buildmg up in the body.

S : Exervisc can increase your fimess
in three ways.

The correct sequence should be

@ QREF

{h) REFQ ‘

<} PSQR

d}y) SQRFP




48. S1: On increasing the temperanre of
solids, 1he kinetic nergy of the
particles increases.

B6: The 1emperatur= at which a solid
melis to becoms a liquid at Lhe
atmospheric pressyre iz called its

meliing point.

F 1 A stage iy reached when the solid
meltz and i3 converted to a liquid.

QDuz to the imorease in kinetic
energy, the particles start vibrating
with greater speed

K ! The pathcles leave their lixed
positicns end start maving more
freely.

3 : The cnergy supplied by heat
overcomey the forces of attraction
between the patticles.

The correct sequence should be
fa) QSHP
by QREP
) PRSQ

) SPROQ

IS

S 51 Things ar: oftcn not what they
seem.

56: This happened  withowt  you
cven knowing il So imagine the
changes thal oecur 1o this carth
and humanity.

P : But you are really not, bocause the
Milky Way palaay, of which you
are 3 pan, is moving through
Epace at 2.1 millien kilormete an
hewar.

Cr : So in roughly twenty sccond that
it would have tuken you tw read

this paragraph, you have already
moved thoeusands of kilometye,

B @ And that is withou taking mio
account the effects ol earth's
rotabon om M2 own Ay, ke

orbating arcund the sun and gum's
joutney apound the Milky Way.

5 : As you read this sentence, pechaps
gitting in @ comfortable chair in

yvour study, vow would probably
consider yourself gt rest,

The comrect sequence should be
{3 QRPS
k) RQPS
() PQRS

(dy SPRQ

A = DIOL-U-LKE
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FILL IN THE BLANKS

Directions

Each of the following sentences m thie section has a blank space and four words or group
of words are given afier the sentence. Select the most appropriale word or group of words
for the blank space and indicate vour responsc on the Answer Sheel accordingly.

a good match T would
have got marricd.

{(a) had found

{b} bavec foumd

{) found

(d) have

The lady has been declared a3 one

of the wp ten ot the com-
Fmity.

(a) more powerful members

(b} maost poweriul members

{c) mosi powerful member

{d) more powerful member

. When [ visited the villages neartry the

city I many walsr ez
intacy.

(A} came 8Ccross

(b} come acoss

{c) came

{d) came in

. He bas lost all his invesimenis and he
Is

fo} broke

fh) broken

(&) discradited

(d) defunct

DZOL-U-LKE — A
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a5,

5N

He whether e could get
any e¢rhficale for the course.

{a) said

(b} told

{c] thowght of

(d) azked

1 farewell bo all my course
males lagt yeur

(z) bid

(i} bade

(c) sad

{d) baod

Very few of the 1exts from very carly
Vedic peried are now,

{a) exiant

(k) exit

" (e} caempt

. A speecch i5 A

{d)} redundant

_ adddeess,
delivered 10 an apdience that seeks 10
copvince, persuade, inspire or intbom.

(a) Torrnal
{b} informal
{c) humorous

(dy political

-

r
-

-
L]




59, Atl that

13 i gald.
fa) glitter

k) glitters

(¢} glirtering

(d) gliding

SWNONYME

Directions :

Each itemn in this sectiom consisks of 2 sentence with an underlined woedig) followed by
Foar words/gmup af words. Select the optica that is nearest 10 mcaning 1o the undezlined
word and trer'k your response on the Answer Sheet gccordingly.

1.

Emboldened by itz success, the leader
now plans 1o go shead wilh he plan
and implemeniation.

{a) Encouraped

(b Disgruntled

(¢] Succeeded

(d} Failed

It is encowraging b sec  [ndia's
indigenous cinema is going places.
(s} homogenous

(b} classical

{c) home-grown

{d) Mon-native languags

. The ability to imagine and copceive a

cothmen good is meensstent with
what i3 kmown as ‘pleomemia” is a
major struggle for a pood democracy to
tealize,

17

0. Having beem in politics for shout

40} yeart, the party tow frists him hike

a have-been

a had-been

a has-been
would have been

{a)
{b}
{c)
{d)

(a) Greed 1o prab everahing for

otesalf

Greed 10 accumulate more and
tovoce wealth

[rnsliks for others
Crrer amhbibous

{b)

i<
{d)
He trisd to avord saying somsthing
that would implicaie him Further.

(2} reward

(b} incrminale

{c}
{d)

EHCOLIT AR

incite

. The sttulory corporale tax which

forms the mayor income of the govem-
ment has oot changed this year,

(2} legisianre
{b) wnlzwful
(€} govemment
(d) legal -
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6. He has been pant of Lhe all dissident (=) aoges

achvities,
(dy whims

{a) rebellious
(b) supportive &%. There i= a fendency to trem social

. changes as mere developmemt in terms
(c) conformist of accumulation of wealth,
() legal - {a} posilion

&7, Advecacy it one major component of {b) predisposition

any New Programine.

. {c) thinking
(=) promeation s
) o i i
(<) critique . During the ancient period poets were
i) liking patrouzzed throwgh various institulicas.

(a) supparicd
#4. People avoided him for his high
- mindedness. (b} respected
{a) toughness {c} opposad
{b) strong principles {d) scolded
ANTONYMS

_Dﬁra::tﬁus.-

Each item in this ssction consists of sentences with an underlined word follewed by four
words or griup of words, Select the oplion that 15 vpposite in meanlng 1o the wnderiined
word and tark your response on the Answer Sheet accordinghy.

71. The archsic thinking leads to unfounded 72. Police had to resort to lear gas to
beliefs. _ diffuse tonsion among the crowd,
(a) antiquated (a) concentrate
(b} outmoded (b} scatter
(<} beyond the times {c) disperse
(@ rmodemn ' (@) smew
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73, Unrest m some pockers tade the city
dwellers corline themselves at home.

(2} Tuwrbulence
(b} Unease

{c) .ﬂhppr:hﬂ‘t;:inn
{d) Calm

T, Peace and franguility are matruments
which would boost the development of
SOCIetY.

{2) upmoar
{b) calm
(e sexenmty

{d) sound

75, Barring a decision of such disputes,
other matters relating to the ekestion of
President or Viec-President may be
reguiated by law made by Parlizment.

{a) excepling
fb) withom
(¢} including

@) excluding

76. His spoech was full of emotions and it
WAS AN AXLSMPOre.

{a} preparmd
(b} Teady made
{c) unrchearsed
() ad tib

77. The teacher asked her students to

understand the ensuing problems and
adidress them suitably,

(a) subscquent

(h)  comiequent

{z) retrospactive

{d} on guite

All the allegations against the actor

were expunged by the committes of

{a) got rd of
{b) part of
{c} avcepled
(d) rejected

. Hiz relatives digsusded him  from

Eiving up the job.
{a) porsuaded

{t) discouraged
{2} advised mzainst
(dy deter

He iz one of the confidants of the
leader and cam influence the decisim
of the government.

{ay opponents
{b) intimate
(e} close friend

{d) colleague
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FARTS OF SPFEECH

Directions :

Each af the following seminces has a word or

underlined. Read the senmnces

carefully and find which part of speech the underlined word iz, Indicale youwr respongc on

the Answer Sheet accondingly.

1. ATl the pilgrims wsted for & while
undder the banyan tres.

(a) Adverb
{b} Placc value
() Preposition
@ Verb

Bl The wonderful same of the lepder
wrlcomes ail people to city.

(a} Ohyect

(b) Adjective
{c} MNoun phrase
{d) Mcun

83, Thiz i3 his pen.
(n) Possesaive pronoun
(b} Possessive adjective
(¢} Adverh
(dy Verb
B4. When people found that the jewel was

in records of Rahim, they gave it to
hirz.

(a) Pronoun
{b} MNaminative
()] Noum

(d)} Advert

DZOL-L-LKE - 4

5. It is elever: O clock now and all of us
should redire t9 bed,

(2} Parsonal promovn
(B} Relative prosoun
{c) Impersonal pronoun
{d) Verb

B6. The flower is very beautiful.
(@) Adjective
b} Adverb
£} Preposition

(4] Conjunction

#7. This boy iz stronger than Famesh.
{a) Pronoun
{b) Adjechve
() Aricle
(d) Adverb

&8 1 burt ﬂ!’ﬂi
{2} Noun
(v} Fronoun
{c) Demonstrative preposition
(d} Adjective




‘9, The anis fought the wasps,

9. [ cam hardly beliove it.

{a) Intransitive verh {a) Adjective
(b) Transitive verh {t) Preposition
{c} Demonstralive verb {c] Adverb
{d) Adjective ' {d) Verb

CLOZE COMPOSITION
. Directions :

Each cof the following sentences in thiz section hac a blank space with faur words or proup
of words given. Scloct whichever word or group of wotds you consider the most
appropniate for the blank space and indicatc your respomse on the Answer Sheet

accordingly.
The difficuls thing about %1. {a) swudying the science of babitz is that
(b} study
{c) sdics
{d) are stodying
moat people, when they bear about this field of research, %L, () wanting
(b} wantcd
{c) wantz
(d) want
o know the gecret formula for quickly changing any habit If scienbists have discovered
how 93. (a) those  patterns work, then it standp 1o reason that they
(b this
(c) these
{d) that

94, {a} mugt have also found a recipe for tapid change, right 7V 1F only it

by will
(c) could
(d} might
25 (a) arc that caay. It's nol 96. {a) these formulasdom't
by wors {b) this
(c) was {c) that
{d) will be {d) which

i A = DZEOL-U-LKE




gaist, The probkan 13 thal there 50 one locmula for 7. {a) changing

(b)) chanpod
{c)  having chanped
(d) changes for
habits. There are thowsands, Individuals and bhabits are _ 9B, {a} fuli
fb) all
fc} complete
fd) most
different, and so the specifics of diagnosing and changing the patterms in our Fives differ
from person o 9. (a) people and behaviour to behaviour Giving up
(b} persons
(¢} personnc
(d} persem
cigatettet w differemt = 100 (a) from curbing overzating, which is different
{b} since
(e} o
(d} into
from chatgang bow you communicate with vour spouse, 1. {a} it
by this
(e} what
(d} which

is different from how you prionitize tasks at work, What's mote, each person's habits are
102, (2} beoken by different cravings. As @ resull, this Book does not

it} given
(&)} dniven
) prescnibed
193, {3} contin oot preseription. Rather, 1 baped to deliver something
{b) contains
{c) contained
{d) containing
else: n fFfamework for understanding 104, (3} how  babitz work and a
- () what
(c} where
(d) whaose
guide I cxperimenting with how they 195. {a) might change. Some
(b} would
(cy will
() st
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habits vield easily to analysis and infuence, Others are 106. () quiet

(k) most
ic) hbetler
(d) more
complex and obstinale, and require prolomged stwdy, And for others, change is a
107, {a) process that never fully concledes., Bur that doss oot
{b) processing
{c) processed
(d} processes
108, (a) means il can’t occut. Each chapter in this book expiains
(b} meant
(c) meaning
(d} rmean

a different wopwect of why habits exist and how they funclion. The framewark
1. {a) desenbing m thiz section is an att=mpt to distil, in

(b descmibed
{(c) will describe
{d} description
1. {a) & vary basic way, the @otcs thal resssorhers have found
(b} any
{c) the
(d) rather

for diagnosing and shaping habiis within our own lives.

SPELLING MISTAKE
Direcrions :

In thig gection 2 word iy spek in four different ways, [dentify the one which is comect.
Choose the corrset vesponss (a), (b} (2] or (d) md indieate om the Anywer Shest
accordingly.

111. Which one of the following alternatives 1I2. Which one of the following alternatives

has the correct spelling 7 has the correct spelling
(2] Mounfaneous {a) Efiquerte
(b) Mounbnous (b} Etjuct:
¢ Mouniaineous (c) Etitquite
(d) Mountaimous {d] Etequite
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113, Which one of the following alismatives 117, Which one of the following altomatives

has the comect spelling 7 has the correct spelling 7
{a) Cumiculam {a) Snobbery
(b Curiculum (b} Snobery
f¢) Curiculeum (c) Snabbery
{d) Curriculum (d) Smobbory

114. Whick cne of the following altematives 118. Which une of the follbwing altematives

has the comect spelling 7 has (he correct epelling ¥
{a) Mapgmificent (2} MNeurasis

b} Magnificani (k) Nuroesis

{c) Magneficent (2} MNewross

(dy Megenficient {d) Wewmesis

115. Which onc of the following allernaiives 119, Which onc of the following altematives

has the comect spelling 7 has the pocrect speiling 7
(1} Felecitation {a) Dipthteriz

(b) Felicitation (b} Diptheria

f¢} Falicitation (¢} Diphtheria

{d) Felicitsion (d) Dhphthriz

116, Which one of the followmg altcrnatives 120. Which one of ! Following altcmmatives

has the comrect spelling 7 has the correct spelling 7
(a) Tweith {a) Meagre
(b} Twelfth (b} Megare
| i) Tweluth (c) Meagr
() Twelthe (d} Mepear
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SPACE FOR ROUGH WORK
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